15.2, number 35: Integrate f(u,v) = v — \/u over the triangular region in
the first quadrant of the wv-plane cut out by v + v = 1.

Answer: The picture is on the next page. We filled up the region using
vertical lines. For each fixed v with 0 < u < 1, v goes from 0 to 1 — w.

/01 /Ol_u(v — V) dvdu

= Ji05 Vi) du
= i (U2 — a1 —w)) du

— f[)l ((1—2u)2 _ \/E+ u3/2) du

I did a substitution when I integrated (1 — u)?. Ilet w = 1 — u. In this case
dw = —du. etc. Do notice that the derivative of —% is exactly @
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